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1. Letfbe the function defined by f(x) = —

a. State the domain of f(x).

b. Find the range of f. {find this after sketching your
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c. Find each relative maximum and relative Find each point of inflection on graph of f. (Provide
mlmmum {ordered palrs).lustufy Answer only x value) Justify answer. <
‘P(x) e~ x e 3x=x" } ‘PYX): (€x-3x*)e*- (3x2-x3)€ Ex-3 383
e 2x - ex 3 — ’ — ex
A B
BRI il L
o 3 Rel. max af (3 47 e* P X=0,3%3 5/3
L/C '(’A CA“?CS“:W!)*-}O <n#iul n'U’ POIJ X‘:UJ?;I/E
e + o~ T 4’ 4 22 i )
0 ¥z 3u3 b £ (x)oﬂarjz s,
M R
Comf"f‘,ﬂ‘#,_
9, - n —
J \a{ d. Find Jjm f(x) and hm f(x) e. Find x-intercept(s) ( 0,0)
: X—30 X—»—0
(m 2 i 2, s Co) o)l
“RAF00 % 3= € e

3 = (&7 )-)bnx e (5)

i

_IF"X .l




/ O cone e skl porel
~0*
Ch. 3.6 Carve Sketeting O = X (3"""5) x= J73
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4. ayGiven the function}y = x — 2cosx | on the interval [-m,n] , find intervals increasing,
decreasing, relative extrema (ordered pairs!) , Points of Inflection (ordered pairs!), , ( )
intervals of concave up/down. Justify your answers! e

b) Create one sign line with all critical points from £(x) and £°(x)
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Justify your answers with “Because” statements! Bt A
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a. Findh" (t) and find extrema. Justify your answer

; STATlON #1 Giventhe function h(t)= }—I-lt—t find the following @ Cuv¥& §f%€(ﬁbl\ Zaj ’(an cﬁ(a/ﬁ\’\

b) Find h “(t) and POL. Justify your answer

¢) Find end behavior: lim A(*) and lim A(%)
x—=0" X—>0

d) Find Domain and Range (you can find this after
sketching your graph)

e) Sketch graph using info (a — d) above.
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STATION #1

a} Flnd h ‘(t) and find extrema. Justify your answer

h(t)= (f) L) [I-4t

Given the function h (t) = 1%—5 find the following
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Let e=3,and ez =4.5
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b) Find h “(t) and POL. Justify your answer
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